[FIEFEHT) KEHELE XOR13IYA—FIL, —AHEY BiAH)

KEHE M

HEXE (20m*/
8,000

6,000

4,000

2,000 :

BRETHIEHS LB
wESER (17m*/ A)

0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21
-==- BT — BT (E) BHM — /\FHEg
=} — it BEm Sl {111

22 23

24 25 26 27 28 29 30
{FERAKE : m?
— PET
—_— VhET




[FIEFEHT) KEHELE XOF203IYA—FL, —0AHEY BiAH)

KEHE M

8,000

H&KE (20m*/R)

6,000

4,000

AN

2,000 = _—

BETHIEH LR
BRI R (17m*/ A)

0o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22

---- BT
&t

— BT (HE)
— \Wifgth

BHM
EE®

— \FEs
111

23 24 25 26 27 28 29 30

ERAKE : m?
— PET
—_— VbhET




[ERFERT) KEHELE XOR13IUYA—FIL, —AHEY BiAH)

KEHE M
n&kE (20m*/8)
8,000
6,000 =
1000 /
/6
2,000
EETH SR
WiE s kR (17m*/ B)
0

0o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

{ERAKE : m?
-——- BT — T (SOE) — —T (—ER) —_— T
— KRET £R/H — AT EHTH
—— ZF® EEh — EMEES —— BEGS




[ERFERT) KEHELE XOF203IYA—FL, —0AHEY BidH)

KEHE M

LEKE (20m*/B)
8,000

=

BETHIEH LR
BESER (17m*/ A)

2,000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

FERAKE : md
-==- BT — EREH (E) — —T (—ERX) — T
— KR £R/H —_— AT EEHH
— T =111 — EEREET — amF iR




